SERRAEE £ =X T IR AT B R s T — & E= 2 7 A (POPs J HCHE) AEE

[9-1]2-endo,3-ex0,5-endo,6-€%0,8,8,10,10- 42 47 7R L)~ (Parlar-26) « /K& [pg/L] SR
AT AR - 2007 [pg/L]
FrHUBE (i — %) - 0/4B(J IS - 0) ST nd
F AR (Hifh~—2) : 0/48(K %5 : 0) T fif nd
BT 20 EN nd
fx/IME nd
T IR
ﬂﬂji/-h\it‘ﬁg %‘%‘ ﬁﬁﬁﬂﬂ;ﬁ [pg/l—]
- 1 [T 35 A KE R nd
2 AR O 0 () nd
AR IR 3 |+=W nd
ey 2 BRI BB nd
B 5 (Ian (RaH) nd
P 5 nd
LTE . 7 R 0 GBI nd
T 8 1ok nd
TR o R0 775 % K i) nd
HA L 10 (B CFRET nd
B TERITT L (T nd
T Yo lgminrn (Fad) @ stnd
- 7 (BN (LK) nd
R 13 [BEn GEX) nd
B 14 |k nd
W 7 15 T e AT nd
BRI 16 |GEIT TR R nd
B 7 [ e (BT nd
; RS0 nd
AN ¥ \mimn (e —@EmE s%nd
I 1 [EO =B GET nd
EL P nd
T T SRR =
TR 22 ok nd
B 23 [00A T nd
TR 20 [T nd
G % [En nd
— IS N CRas ) nd
A 2 ki o) mE s%nd
SN T SIS nd
ST 28 |k nd
o L [250L) nd
SLRIR 29 lyserh [50L) sténd
W 30 [T R nd
e | 3L [Reo) i N o T i) nd
T LU 32 R nd
33 |[HE#k nd
T B s | nd
GEY R ¥nd
35 |[f LA nd
[IgE'= 36 [#ih nd
37 [ nd
T T G nd
I 39 [ nd
R 20 |05 0 (5 1) nd
— T nd
e stnd
PR IR 42 |Gt BB nd
BT 23 [ nd
AT 24 [ CFFm) nd
G SR nd
i |46 D G ) nd
In I 47 |ERBITERBE (OB X BARET) nd
— WETE nd
R 8 s —EE stnd

(EDFH T IRIELL B2 R & L,

(EXHIIBBMEE LT~ T,

(7E3) MEEE I [50L] oof it FIRMEIL 0.5, & FHREIT 2,
(1E4) SEEE I [250L] oof T IRMEIL 0.1, & FIRfEIX0.3,



